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Part 2: Long Answers (60 marks)

Show your work for full marks

2 Evaluate the following limits.

(a) (10 points)
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(b) (5 points
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3. (a) (8 points) Solve the following inequality for z.

z2 -1
z2 -4
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Justify your answer-
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(b) (7 points) Fi
points) Find the value(s) of z for which f (z) = '5%52:5 {s discontinuous:
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Marking scheme for questions 2 and 3

2) a) 10 marks for correct answer with justification, 8 marks for correct answer with no
justification (or wrong justification), 8 marks for mostly correct justification but wrong final
answer, 5 points for expanding the numerator and stopping there.

b) Almost nobody noticed that the limit is only defined on one side, so | didn't take off marks
for that. 5 points for (properly) using L'Hopital twice, minus a mark or two for incorrect
algebraic manipulations (for example, a lot of them said that (\log x)*2 = 2 \log x ). 0 points if
they clearly didn't know what they were doing.

3) a) 8 point for correctly finding the proper intervals, 6 points if they made a chart (or tried to
make a chart) of where each factor was + and - but didn't properly analyze it, minus a mark or
two for algebraic errors.

b) 7 points for correctly identifying the discontinuities at x=2,-3. Minus 1 point for failing to note
that the discontinuity at x=2 is removable (which pretty much everybody did).
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2
ints) Let p = L 4 60(q+3)'/3 -
/" (15 points) P="%+ y and ¢ = vm? +16. Let r = Pq. Determine 4= when m = 3.
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5. (15 points) A par

find the accelerat;i
You will need the
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ticle is travelling with position f(t) at time ¢ > 0. If

F(£) = (t + 1)ed*~

¢ 4

! = v'(t).
leration a(t) = v'(
on of the particle. (Hint: fing the velocity v(t) = f’(t) and then the acceler
product rule and the chain rule.)
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